
30' Wide  2-3/8" Arch Dia.  5' Straight Side Gothic Greenhouse Frame
Length 96 
Arch Spacing 6 
Number of Purlin Runs 5 
Purlin & Windbrace Gauge 14 
Sidewall / Ground Stake Length    (7), (8) or (10) 7 
Cross Connectors (1)    or Pipe Straps (2) 1 
Cross Braces, Every Arch (1), Every 2nd Arch (2), Every 3rd Arch (3) 1 

Z30A  30' Gothic Arch Half  (2-3/8" - 14 ga.) 34 

GFA2141   1" No. 14 SS Tek Screws Bags/50 to Fasten Stake to Arch 2 
GFA337  3/8" Driver Bit 1 

Z30C  5' Arch Coupler for 30' Gothic (2-3/8" - 14 ga.) 17 

7'  2-3/8" Swedged Stake,         Install 32" below grade for 5' Sidewall 34 

8'  2-3/8" Swedged Stake,     44" for 5' Sidewall  or  32" for 6' Sidewall

10'  2-3/8" Swedged Stake,     44" for 7' Sidewall  or   32" for 8' Sidewall

GPS020    2-3/8" Pipe Strap for baseboard 68 

GLB025015   1/4" x 1-1/2" Galv. Lag Bolt 136 

12' 14 ga Swaged 1.315 Purlin Pipes, Use 2 @ ea. corner for windbrace 48 

12' 17 ga Swaged 1.315 Purlin Pipes, Use 2 @ ea. corner for windbrace

GCC237 2-3/8" Cross Connectors for Purlins except both Sides and Ridge 30 

GPS010 1-3/8" Pipe Straps for All Arches & Windbraces, Optional
GPS010 1-3/8" Pipe Straps for both Side Purlins, Ridge Purlin and Windbrac 75 
                                                            also use for all purlins at both end arches
GFA2121   1" No. 12 SS Tek Screws Bags/100 6 

ZGSD  XL Ground Stake Driving Bolt  1-3/4x4" 1 

GFA331   5/16" Driver Bit 1 

Plain      12' 14 ga  Crossbrace Half, 1.315 w/one end flattened/punched 15 
Swaged 12' 14 ga Crossbrace Half, 1.315 w/one end flattened/punched 15 

4'  14 ga. Short Brace   1.315" w/both ends flattened/punched 30 

GFA3237   2-3/8" Brace Bands 60 
GFA31315  1-3/8" Brace Bands 30 

GCB031015   5/16"x1-1/2" Galv. Carriage Bolt 90 
GN 031  5/16" Galv. Nut 90 

GFA24237  2-3/8"  2x4 End Wall Bracket 18 


